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roivo. [ T I T T T T 11T |
B. Tech. II Year (III Sem.)

0Odd Semester Examination-2015
Computer Based Numerical & Statistical

Techniques
Time : 3 Hours] [Maximum Marks :100
Unitl
Attempt any Four (4x5=20)
1. Convert the following base-2 numbers to base-10: 1011001

and 110.00101

4. An approximation value of x is given by 3.1428571 and its
true value is 3.1415926. Find absolute and relative errors.

3. The error in the measurement of the area of a circle is not allowed

to exceed 0.1%. How accurately should the diameter be
measured?

4 Arealoftheequation f(x)=x"-5x+1liesinthe interval (0,1).
Perform two iterations of the secant method.

5. Find the approximate value of a root of the equation /(x)=0
by using Newton Raphson method.
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Unit 11
AT (4x5=20)
. Toshowthat Alog f(x) log[l+ o (x )]
AL
2. Findthemissing entryin the following table.
;( ;64— - § ¢ . 7 7 3 2 ‘S
e 1 LS 1189 ] 491

3. A second degree polynomial passes through the points (1,-1),

(2,-2), (3,—1) and (4, 2). Find the polynomial.

4. Prepare the divided difference table for the following data

X ] 3 B 6 10
f(x) 0 18 58 190 | 920
3. Use Gauss forward formula to find y atx =30 given the following
table of values:
x |21 25 29 33 37
y |18.4708 [17.8144 [17.1070 |16.3432 |15.5154
Unit 11
Attempt any Two (2 x 10=20)
, & Find one root of ¢ —3X =0 correct to two decimal places using
the method of Bisection.

(2)
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2. ApplyBessel’sinterpolation formula to obtain y,, given that
o= 2860, 3, = 3167, y,g= 3555 and y,, = 4112.

3. The equation

= 1 1
2¢ X =
3 x+2+x+1

has two roots greater than — 1. Calculate these roots correct 1o

five decimal places.
UnitIV
Attempt any Two (2x10=20)
1. Find
2

-d-y—and‘—j—'v for x=0.2

dc  dx?

for the data given in the following table

x|[0]01 0.2 0.3 04 0.5
y | 0 0.10017 | 0.20134 0.30452 | 0.41076 | 052113

p 4 Evaluate the integral
| &
I e'dx
0
taking = 6 using Simpson’s 1/3 rule.

3) P.TO.
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3 Use Picard’s method of successive approximation to find the
. value of y for the following:

@ _ 2v.v(0)=1
dr
UnitV

ptany Two (2 x 10=20)
Attem
Dc\crnﬁncmeequaﬁomothebestﬁningexpormnal curve of
the formy = aebx for the data given in Table
[x 1 3 5 7 9

X
| 105 | 95 g5 | 80

1.

y 115

2 Calculate line of regression coefficient from the following
. 2 3 R 5 6 7 8

?1’( 13 .'-7 10 12 14 17 20 24

3 Wﬁtemcadvamagesof statistical quality control.

——
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